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e Please check that this question paper contains 11 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 24 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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QT 3397 :
G) gl @vel & @4t yeT AT & |
(i) U9 I97 & [HERT 3% 398 qrgd R 1 §

(iii)  To7 G&IT 1 - 4 77 13 - 16 371a TFHIHS F97 &, 5779 J% H7 1 375 8 |
59T Yo &1 I Uk TTaFT § 57 3957 2 |

(iv) %7 &I 5- 6 3K 17 - 18 TFHIHSF F97 8, 5780 JA% & 3 3% & |
Jedh &1 I GIHTIT: 60 Isq] & 37fer 787 17 =1i5q |

()  J97 GEIT7-9 3K 19 - 21 ¥} TGHIHF 397 &, 78 59% & 4 3% & |
Jedh &1 I GIHTIT: 70 Jeq] & 37fer T&7 811 =iy |

(vi) 97 G&IT 10-12 3R 22 - 24 FH FTIcHS 97 &, 578 I9% & 6 3%
g | Y 7 I GrETa: 100 5] & 3718 787 8147 FifeT |

(vii) I GIET TIT FEIIHF &1 TNRT TIT IIEYTT FT 31 T Iog FHT & AT
&7 few S Tifzw |

General Instructions :
(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each question.

(iii)) Question Nos. 1 -4 and 13 - 16 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv) Question Nos. 5§ -6 and 17 - 18 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Question Nos. 7 -9 and 19 - 21 are also short-answer questions carrying
4 marks each. Answers to them should normally not exceed 70 words
each.

(vi) Question Nos. 10 - 12 and 22 - 24 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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wus A
SECTION A

1. 9 100 $HTE IcUEH A hl Pl R A T 30 &1 AR 3iea giadt anma

T 3%, @ Fol A gnft : (e forhed gRw) I
(%) T3

(@) <30

(M) T 270

(|a) T 330

When the total fixed cost of producing 100 units is ¥ 30 and the average
variable cost T 3, total cost is : (Choose the correct alternative)

(a) T3
(b) T 30
(c) T 270
(d) T 330

2. @ 3¥d 3G (AP) 3AMUehad BT 8, a9 HHId 3caig (MP) : (F& foshed
gfm) 1

(%) A 3IcE o THH BT 8
(@) S0Ed 3G | A Bl &

()  3ftEd Icarg F 31fiek gia @
() I & @ HE o & wwa 2
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When the Average Product (AP) is maximum, the Marginal Product
(MP) is : (Choose the correct alternative)

(a) Equal to AP
(b) Less than AP
(¢) More than AP

(d) Can be any one of the above

3.  HHNHS (ETH) T 1 Teh I T | 1

State one example of positive economics.

4. for (ffeaa) amma 61 it G | 1

Define fixed cost.

5.  “dopdleh o =¥ hl ol HHEAT HHATSU | 3
AT
“ferger foTu Icare foman ST” <Al e THEIT THETST | 3

Explain the central problem of “choice of technique”.

OR

Explain the central problem of “for whom to produce”.

6. ST HIT ¥ FAT AW 7 ? I SAr= AT H $Heh! AT hig | 3
What is meant by inelastic demand ? Compare it with perfectly inelastic
demand.

58/3 4
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7. 9 U 9] Il HUd T 4 UG IHE W dgR T 5 Ul FHIE Bl 7, Al Th
R gfd 100 1S T Fght 120 $H5 & Mt & | gfd <t Hmd a= o
gftehe ShIfT | 1 gfd deer 8 2 SR @i | 4

When the price of a commodity changes from ¥ 4 per unit to ¥ 5 per

unit, its market supply rises from 100 units to 120 units. Calculate the
price elasticity of supply. Is supply elastic ? Give reason.

8.  3I=IqW <hid Himr fuier 9 = iy 8 2 39 gfiumm gHeEsy | 4

What is meant by price ceiling ? Explain its implications.

9. U I%] ! hiFd IaT & T T SUHIAI I8 hdl aF HUN foh I8 39 I&G hl

fepat | wiie ? THesy | 4

YT
SFTRME sk T § ? IHEHM dshi <Al fiF foivamd sqmsT | 4

Given the price of a good, how will a consumer decide as to how much
quantity to buy of that good ? Explain.

OR

What is Indifference Curve ? State three properties of indifference
curves.

10. THIUsRY Sfifiar i @ fonivard sarse | 37 8 wE-E foRivar s@ qui
gferRn T & forer et @ i = 2 6

AT

Fafafad o aftomy gweEmEy . 6

(%) ol fcenfirar & ®HT o TS i IR I Bigd hl Taa=dl
(@) SfcuTleehR § TR-Hmd Siaafian
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11.

12.

13.

14.

58/3
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State three characteristics of monopolistic competition. Which of the

characteristics separates it from perfect competition and why ?
OR

Explain the implications of the following :

(a)  Freedom of entry and exit of firms under perfect competition

(b)  Non-price competition under oligopoly

e a3k faveiyor grT IuMhT % T sl 31d THEST |

Explain the conditions of consumer’s equilibrium using Indifference
Curve Analysis.

gt mm (FEfd) TR HiHTd ArTa St FERIAT ¥ IcqTgeh o T hl I
HHSATRT |

Explain the conditions of producer’s equilibrium in terms of marginal
revenue and marginal cost.

Qus d
SECTION B

g1 gfd <l gt T |

Define money supply.

AfaiRad § & ShH-81 TS 3T ol JHITId il g ? (Fe! faehed JHT)

(%) T I H
(@) M=

() ride TErEEn
(%) g § | HiE T



Which of the following affects national income ? (Choose the correct
alternative)

(a)  Goods and Services tax
(b)  Corporation tax

(c) Subsidies

(d)  None of the above

15. 39N 95k 3P ¥ 1 &I I BT @ ? 1

Why does consumption curve not start from the origin ?

16. g Seh UHT Hich HIT shi TSN I aG1 Hehal & : (Hal foehed gfw) 1
(%) Feie R (9 Q) TRt
(@) i gEiE R (e W ) sgr
() =l fayiear @fict
() whr wiqyfEr et
The central bank can increase availability of credit by : (Choose the
correct alternative)
(a)  Raising repo rate
(b)  Raising reverse repo rate
(c) Buying government securities

(d)  Selling government securities

58/3 7 P.T.O.
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17. 9ME 3™ 4 314 T gH J1Edideh 3T 8 I L Tehd & ? GHST | 3

HAAAT

frafcifiad § @S-8 3IfaH a&qu 8 R HH-H Hegadi ? R0 ST | 3
(%) = WA gRI gy i Elig

(@) *a g a9 i @l

(M)  wpa i A feneff gr @ 1 @le

Given nominal income, how can we find real income ? Explain.
OR

Which among the following are final goods and which are intermediate

goods ? Give reasons.
(a)  Milk purchased by a tea stall
(b)  Bus purchased by a school

(c) Juice purchased by a student from the school canteen

18.  TUIh ohl GRS T | a9 SR 3R Uk o S 1 Heg & 2 9
OTh ST W 4 7, @ HHid 399 Sgfd 1 afehed T | 3

Define multiplier. What is the relation between marginal propensity to
consume and multiplier ? Calculate the marginal propensity to consume

if the value of multiplier is 4.

58/3 8
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19. HEEhIfaehil AU & 1 MUY 8 ? $6 AU hl HH B o dF Iq™
§dreq | 4
3T

oy ($) T F FA1 AU 7 ? 38 Th sy | 4
What is meant by inflationary gap ? State three measures to reduce this
gap.

OR
What is meant by aggregate demand ? State its components.

20. MW ITHN YFRT F eI 0-6 7 TR FfIaee hHl TREWH A= T 100 IS
3 | T, 3UAM 3R F=d fG@Td gU U diferent AR T | Ife @ e
T 80 HUS B, I 3 &l TgeH &R off fe@mu | 4

The value of marginal propensity to consume is 0-6 and initial income in
the economy is ¥ 100 crores. Prepare a schedule showing Income,
Consumption and Saving. Also show the equilibrium level of income by

assuming autonomous investment of ¥ 80 crores.

21. AN fod o 6 “sifon e & &9 | e auesy | 4
Explain the role of the Reserve Bank of India as the “lender of last
resort”.

22. (%) fafma @ ghg o TEA 3 W 991G FHAST | 6

(@) 9TaH aded § 91’ Sl TR0 FHEmsy |
(a)  Explain the impact of rise in exchange rate on national income.

(b)  Explain the concept of ‘deficit’ in balance of payments.

58/3 9 P.T.O.
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23. Uiehe HINT (%) SR Shmd | fHaa s Icute, qen (@) d1eH (IUTeH)

AN YU Hehel ®lc] 3HIQ :

i) Tt ok =

(i)  Aigll qen dH

(iii)  Afaafa a9

(iv) ot smocaer

(v)  3fieh T

(vi) Tm e

(vii) faesn =t fHaet e 3
(viii) TATHTRT

(ix) T Yl sl ITHA
(x) TSRl gr0 TR et STmIgH
(xi) Taf¥a s

4+2=6
(T #1331 5)

6,000
1,800
400
100
20
120
70

80

50
200
1,000

Calculate (a) Net National Product at market price, and (b) Gross

Domestic Product at factor cost :

(1) Rent and interest

(ii)) Wages and salaries

(iii) Undistributed profit

(iv)  Net indirect taxes

(v)  Subsidies

(vi)  Corporation tax

(vii) Net factor income to abroad

(viii) Dividends

(ix) Consumption of fixed capital

(x)  Social security contribution by employers

(xi) Mixed income

58/3 10
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(< in crores)
6,000
1,800

400
100
20
120
70
80
50
200
1,000
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24, Tr=fafaa & 319 gH=msw 6

(%) TS 91l

(@) TSI =rer
() wfEes =
Jrera
TN 997¢ o FHfARgd 3e99 THHTST : 6

(%) THETEAT T e

(@) I HYHATE T LT

Explain the meaning of the following :
(a)  Revenue deficit
(b)  Fiscal deficit
(¢)  Primary deficit
OR
Explain the following objectives of government budget :
(a)  Allocation of resources

(b)  Reducing income inequalities

58/3 11
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English

SENIOR SCHOOL CERTIFICATE EXAM
MARCH 2018

MARKING SCHEME
ECONOMICS - X1l

SET (58/1/2/3)
Expected Answers / Value Points
GENERAL INSTRUCTIONS :

1  The Marking Scheme carries only suggested value points for the answers.
These are only guidelines and do not constitute the complete answers.
Students can have their own expression and if the expression is correct, marks
should be awarded accordingly.

2 As per orders of the Hon’ble Supreme Court, a candidate would now be
permitted to obtain a photocopy of his/her Answer Book on payment of the
prescribed fee. Examiners/Head Examiners are, therefore, once again
reminded that they must ensure that evaluation is carried out strictly as per
value points for each answer as given in the Marking Scheme.

3  Head Examiners/Examiners are hereby instructed that while evaluating the
answer books, if the answer is found to be totally incorrect, the (X) should be
marked on the incorrect answer and awarded ‘0’ mark.

4  Please examine each part of a question carefully and allocate the marks
allotted for the part as given in the ‘Marking Scheme’ below. TOTAL MARKS
FOR ANY ANSWER MAY BE PUT IN A CIRCLE ON THE LEFT SIDE
WHERE THE ANSWER ENDS.

5  Expected/suggested answers have been given in the ‘Marking Scheme’. To evaluate
the answers, the value points indicated in the marking scheme should be followed.

6  For questions asking the candidate to explain or define, the detailed explanations
and definitions have been indicated alongwith the value points.

7  For mere arithmetical errors, there should be minimal deduction. Only % mark
should be deducted for such an error.

8  Where only two / three or a ‘given’ number of examples / factors / points are
expected, only the first two / three or expected number should be read. The rest are
irrelevant and must not be examined.

9  There should be no effort at ‘moderation’ of the marks by the evaluating teachers.
The actual total marks obtained by the candidate may be of no concern to the
evaluators.

10 Higher order thinking ability questions are for assessing a student’s understanding /
analvtical ahilitv.
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User
Text Box
English


Expected Answer / Value Points

etl | Set2 | Set3 SECTION -A Distributi
of Marl
3 2. Problem of scarcity means insufficient availability of resources in relation 1
to demand for the resources.
2 3. Cost in economics is the sum total of explicit cost and implicit cost 1
including normal profit.
Or, Cost in Economics is the sum of actual money expenditure on inputs
and estimated value of inputs provided by the owners including normal
profits.
1 (c) May fall or may rise.
4 (b) Rises
5 Microeconomics studies the behaviour of individual economic units
(OR whereas macroeconomics studies the behavior of the economy as a whole.
Up Example of microeconomics — consumer’s equilibrium (or any other one 1
Down) relevant example)
Example of macroeconomics — national income (or any other one relevant 1
example.)
OR
Production Possibility Curve (PPC) shows various
combinations/possibilities of the two goods that can be produced with
given resources and technology assuming full and efficient utilization of 1
resources.
Yes, PPC can shift due to:
a) Change in resources. 1+1
b) Change in technology.
6 5. i) Price of substitute goods
i) Price of complementary goods. 3x1=3
iii) Income of its buyers.
(or any other three relevant determinants)
9. 8. Demand curve will be parallel to the Y axis as there is no change in
quantity demanded due to rise in the price of the commodity. 4
(Note : Diagram not required)
7. 9. Revenue in Microeconomics means the market value of output. 1
Relation between MR and AR
Schedule Y-axis
Units  Price/AR MR T Diagram
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axis and coincides with the
AR curve.

OR

Supply refers to the quantity of a good which a producer is willing to

Get More Learning Materials Here : & m

(Diagram not required)

OR

f— . .- -~

supply at various possible prices during a given period of time.
- Increase in supply means supply rises due to favourable change in 1%
factors affecting supply other than own price of that good
whereas
- Extension in supply means increase in quantity supplied due to rise 1y
in price of that good, other factors remaining constant. 2
8. 7. ‘Price Floor’ is the minimum price fixed by the government below which 1
sellers cannot sell their product.
Since this price is normally fixed above the equilibrium price, there is excess 3
supply in the market. As the seller may not be able to sell all that he wants to
sell, he may illegally attempt to sell the product at a price below the floor price
fixed by the government.
11. | 12. | The consumer is in equilibrium when
I::'X IDY
b) MU continuously falls. 1
Explanation
Condition 1  Suppose per rupee marginal utility by spending on good X is
greater than on good Y. This induces the consumer to spend
more on good X by reducing spending on Y. This leads to 3
fall in MUyx and rise in MUy. This shift of spending from
. .. MU MU
good Y to good X continues till A __— ¥
I:)X I:)Y
M MU, .
(Answer based on MUy < MUy is also acceptable)
PX I:)Y
Condition 2 Marginal utility falls as more units are consumed i.e. the law
of diminishing marginal utility is operating. This ensures
fulfilment of the first condition. 1
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2) An IC is convex towards origin. 1
It is because MRS declines as more is consumed of one good, 1
because of operation of law of diminishing marginal utility.

3) An IC to the right represents higher level of satisfaction.

It is because an IC to the right shows more units of goods consumed 1
and more units of goods consumed are assumed to have more 1
satisfaction.

(No diagram is required)

1. |12. |10. |According to the Law of Variable Proportions — as only one input is 1
increased, others remaining unchanged, the total product increases at an
increasing rate, then at a decreasing rate and ultimately falls.

X Maximum TP !
B 2
I
I
| | TP
1
I
I I
I
TP ! I
I
I t
I 1
Phase I Phasell | Phaselll _ X
0 Units of variable input
Phase I  In the first phase, TP increases at an increasing rate upto point A. 1
Phase Il In the second phase, TP increases at a diminishing rate between 1
point A & B.

Phase 111 In the third phase, TP starts falling beyond point B. 1

FOR BLIND CANDIDATES - Any Valid Schedule 2

2. [10. [11. |1) Large number of buyers and sellers — The number of buyers and

sellers is so large that an individual seller or buyer has insignificant
share of total output sold or purchased.

2) Homogeneous products — The buyers treat the products of all the
firms in the industry as identical/homogeneous. 1xd=t

3) Perfect knowledge — AIll producers and consumers are fully
informed about the market.

4) Freedom of entry and exit — There are no barriers in the way of
new firms joining the industry and existing firms leaving the
industry.

2 11 1A [£)) Dicac

Get More Learning Materials Here : & m
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17. |18. | (a) A car used as a taxi - It is a capital good because it is used for 1
producing services for generating income.

(b) Refrigerator in a hotel — It is a capital good because it is used for 1
providing services over a period of time to the production unit.

(©) Air-conditioner in a house — It is a consumer good because it is used 1
for satisfaction of a want by a household.

(No marks if reason is not given or is incorrect)
OR

Intermediate  Consumption refers to the expenditure incurred by a

production unit on purchasing those goods and services from other 1Y%

production units, which are meant for resale or for using up completely

during the same year.

For example: Milk purchased by a hotel because it is purchased from

another production unit for resale indirectly. (or any other relevant Ya

example)

Whereas Final Consumption refers to the expenditure on goods and 1

services meant for final consumption and investment.

18. 117 1y c=100+0.6Y (given) .
So MPC =0.6
MPS = 1-MPC
=1-06 1
=04

i) S=-C+(1-b)Y. .
S=-100+04Y

21. | 20. |a) Bank Rate Policy — It is the rate at which the central bank lends
funds to the commercial banks. An increase in the bank rate 2
increases the costs of borrowing from the central bank. This will
then cause banks to increase the rate at which they lend. This will
discourage people from taking loans, thus reducing the volume of
credit in the economy and vice-versa.

b) Cash Reserve Ratio (CRR) — It is the proportion of deposits that
commercial banks have to keep as cash reserves with the central 2
bank. An increase in CRR has the effect of reducing the bank’s
excess reserves and thus decrease their ability to give credit.

(Any other relevant method is to be considered) (Any Two)
OR
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0. | 19. |21. | National Income is determined in an economy at a point where planned 1
saving equals planned investment.
S, | S
E
|
1Y%
0
Y
Income
In the above diagram E is the equilibrium point where savings equals
investment at national income Y.
At any output level less than equilibrium output, S < | means there is
unplanned decrease in inventories. To increase inventories to the planned 1%
level, producers increase output leading to increase in income. With such
rise in income, saving rises again till S = I at equilibrium E.
(Note : Explanation with S > I, is also acceptable.)
FOR BLIND CANDIDATES — Any Valid Schedule 17
20. | 19. | Investment multiplier is a measure of the effect of change in the initial
investment on change in final income. 1
Numerical example
Suppose Al = %100 cr.
MPC = 0.8
Initial investment of ¥ 100 cr. raises the income by % 100 cr. In the first
round, this additional income causes an increase in consumption
expenditure which in turn, generates more income (as one man’s
expenditure is another man’s income). This process continues till the total
income is equal to multiplier times the initial investment.
Round AY AC AS
I 100 —> 80 20
[ 80—, 64 16
Il 64 51.2 12.8
| Total 500 400 100 |
(or any other relevant example)
K = 1 3
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= 5x100
= 3500
(Explanation without schedule is also acceptable)

23. |23. | (@ Revenue expenditure — It is the expenditure made by the
government that neither creates any assets nor reduces any liability. 1Y% X 2=¢
Capital expenditure — It is the expenditure incurred by the
government that either creates assets or reduces liabilities.

(b) Fiscal Deficit refers to the excess of ‘total expenditure’ over ‘total
receipts excluding borrowings’. 1Y x 2=
Whereas
Primary deficit is defined as fiscal deficit less interest payments.
OR
Revenue Receipts are receipts which neither create a liability nor lead to
reduction in assets whereas Capital Receipts are the receipts which either
create a liability or reduce assets of the govt. 3
Components of Revenue Receipts are —
- Tax revenue receipts (direct and indirect taxes) 1%
- Non-tax revenue receipts.
Components of Capital Receipts are
- recovery of loans
- borrowings and other liabilities 1%
- other capital receipts like disinvestment.
24. | 22. | Fixed exchange rate is the rate which is decided by the government at )
which domestic currency can be exchanged with foreign currency.
Flexible exchange rate is the rate which is determined by the forces of
demand and supply of foreign exchange in the foreign exchange market.
The foreign exchange rate and demand for foreign exchange are inversely 4
related. The supply of foreign exchange and rate of foreign exchange are
directly related. The exchange rate at which demand and supply of foreign
exchange are equal is the equilibrium exchange rate.
(Diagram is not required)
22. | 24. |(a) GDPmp = (i) + (i) + (iii) + (iv) 1%
= 3,500 + 4,000 + 1,100 + 500 1
= % 9,100 Crores 1,
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Hindi

SENIOR SCHOOL CERTIFICATE EXAMINATION
MARCH-2018

3F AT - I AT (el
Expected Answers / Value Points
3T 3ccR / FHedieheT fog

Ay Ader

1  The Marking Scheme carries only suggested value points for the answers.
These are only guidelines and do not constitute the complete answers.
Students can have their own expression and if the expression is correct, marks
should be awarded accordingly.

2  As per orders of the Hon’ble Supreme Court,a candidate would now be
permitted to obtain a photocopy of his/her Answer Book on payment of the
prescribed fee. Examiners/Head Examiners are, therefore, once again
reminded that they must ensure that evaluation is carried out strictly as per
value points for each answer as given in the Marking Scheme.

3  Head Examiners/Examiners are hereby instructed that while evaluating the
answer books, if the answer is found to be totally incorrect, the (X) should be
marked on the incorrect answer and awarded ‘0’ mark.

4  Please examine each part of a question carefully and allocate the marks
allotted for the part as given in the ‘Marking Scheme’ below. TOTAL MARKS
FOR ANY ANSWER MAY BE PUT IN A CIRCLE ON THE LEFT SIDE
WHERE THE ANSWER ENDS.

5  Expected/suggested answers have been given in the ‘Marking Scheme’. To evaluate
the answers, the value points indicated in the marking scheme should be followed.

6  For questions asking the candidate to explain or define, the detailed explanations
and definitions have been indicated along with the value points.

7  For mere arithmetical errors, there should be minimal deduction. Only % mark
should be deducted for such an error.

8  Where only two / three or a ‘given’ number of examples / factors / points are
expected, only the first two / three or expected number should be read. The rest are
irrelevant and must not be examined.

9  There should be no effort at ‘moderation’ of the marks by the evaluating teachers.
The actual total marks obtained by the candidate may be of no concern to the
evaluators.

10 Higher order thinking ability questions are for assessing a student’s understanding /

AnalvdiAaal Alilida,
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YTET Scak /| Hediehsd %g

HTIT - 3
Question AIART — o Marks
No.
1. |2 |3 |waasEaafiga g | 1
2. |3 |2 | T IUTRA FT IX 1
3. 14 |1 | @ a=gsrdima 1
4. 1 14 =15 1
5. |6 |5 | = 99T T q¥aw 39 RO | § ST Uah AT GeqT TF Fdl ¢ o 39 fohed
FECRAT AT AT FT ICATET FIAT g TAT Fhaeit JTAT FT IcATEA AT ST | 3
FAICF T qHTIA: HITHT gId g TAT Tk Johfeqsh AT 21 & |
EDEN
ST HATAAT o Aatorraa affefadt § g &g & 2 foms aaar g
g, Tl § giy 1%
3. dEATE H U 1%
6. |5 |6 AQ_P 1
Ed=—X—
AP Q
) 100, 20 1
~ AP 77200
22 (AP) = 10 Vs
AP =-5
T AT = IRAF HIAT+H AP = 20+(-)5 =315 &
7. | 8| 9 | =S @l T HIE
m = PxQx + PyQy STl m = &, 1
TH TFT
100 = 10Qx + 5Qy 3
CREN
JfeaTae T HATT 32 | ATTIT 39 ag WA &, 5" 9% 0 SUHH uF avq 1
Fr srfafes zars aTa e % forT gt a1 AT ARE A 99 g
ST ST ITHITHT AATIEHT 5k I A1 T A A1aT g Tiaemae it A a2
AT Tt FTT ¢ | T8 3aTaT 8 it 9 ITFRT X 7w ¥ oFfafew zhre 7 e
FIAT G AT A Y TE o0l FH SHRISAT Hl TRT HIAT AT3AT § AT THHT HT ¢ 3
T HHTed ITATAT T a9 g
8. |9 |7 | cuTew Aqa H A g
¢. MC=MR and 1
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& ft MC = MR 7 81 9T |
Ffe MC>MR g, T it IcITas 9 | qa! g1 FA11h Tl AT Hqa &q¥ 9T
ATH o TA< & FH g OTTE IcqTaeh IcATaT § O qoh FHHT FT STa a i
MC = MR 7 21 5T |
It 2 it =TT
7fg MC = MR &< & 7a1a MC<MR 2raT &, a7 Yo 741 1< a9 # i 1
FT |
7f2 MC = MR &< % 9ma MC>MR 24T 2, a7 T T47 5ohTs o § FHT
FIAT | 1 VT Rt & IeqTaa ST ITHTEA Al F a7 IcITah Hqad | g |
9. |7 |8 | warer quT afgeHA ¥ Tac=rar w7 Afgary g foF wHT F I=RT § yarer At afg<ta=
T FIS ALY Al 2 | T TAHTH BH AT ATH STIrd et g ar 74 &
I H Taer F forg ST greft 8, 3899 aree It # gl St @ q°7 HiAdi § a”qv
AT § FHT ZIAT g | T TF TF AAAT LT § S qF 19 FH Fae AT AqTH
ST FdT 2 |
THY YHTT ST HHT AT T AT @ AT 1 FF SN AT GIe <ot g e aram gt 4
H T ZIAT g IO Ta&T H9q 98 STl g TAT g1 § FHHT 3 T § =7
TRTT &9 T § FH hael GTHTT AT STtord T g |

(& | HediwsT far )
10. [12 | 11 | |77 IHHTHT Faet a1 FEGA X TAT Y FT ITHNT FIAT & T AqAT 07 A0 A 2
MUy MUy

Tx Tk 1

Py Py

R ST FEq T ATEF AIAT HT ITHANT 6T 71 § aa MU st g 1
FTEAT

MUy _ MUy ,

g. aﬁP—X>P—Y§HﬁwﬁﬁwsﬁwaﬁYaﬁ%wﬁXaﬁﬁa®%ﬁ 3

ST w9 HHTT STITHAT ST Sl § od: a8 X a%q Fl T @i siw Y

e 1 0 G | THH MUy § T st i MUy, 9271 | ST ad a9
o o MUX MUy
Y T AT S TR o Joh—— =——— o gl oY |
MUy MU
(FF THET— <—ZLoz serfi 3o ot wTe ZITT)
3. ST ITFNT FEar g af MU =2ar g | 39T MU S&l =917 a7 STHIH S 1

T I AT Tg= |
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RG] bV J | per— :
(i) MC a®,ATC T AVC @&T T e
FT I gAaH faeger 9w e s 3
g 5 L
(i) Scarew § gfg F |@TH ATC x
AT AVC Tl & & it gl _
Freaw aeft & | ’ o '

MC, AVC aur AC & &= Hae:
sfa MC < ATC/AVC, ATC/AVC f Srar g

MC = ATC /AVC , ATC JAVC fooe 3rar & 3
MC > ATC /AVC, ATC /AVC ag Srar g

g fRrenf¥iat % forg w1 oft Sws dearers arferwr | 3
12. 111 | 10 | “mraw fiwa S Rt & aftomr 39 =@aw fag & 2 06F awww g

et BT STar & T i |1 ScaTee ST ST T 39 hiud F 9 fig 97
el o= AT ¢ |

FAR qHTIAT: TE HIAd HqAd HAd & ATIF gt § AT aree & g 4
artersFr it oY gt § o STTa® oq+ 3caTE &l =6 hiHd 9% qgl o= 9rdr
TAT T AT T F IATH AT H FH HHT 92 AT ITE Al a4 HT TId

FLATE |
EREL
U qE T ATATE I § g | HE H FHT HISET A 9T e SAfeery G27 F7d1
2l 6

THF TROTTHEAEY, faharsti & S Siaeqet =7 grdt g, Fit feehar s ofr
HTAT 9 HIS[ET A 9T =T AT8d &, 9g ao H TeFH qg1 g

Fra # Frae & /i1 # gig o ol #§ ferae grft )
UH TREdT a9 % ST Tgd g Sd % aTSY 95 SqAd aF  dgd o1 |
(T | AT fohaT wTw)

STTHATT o
13. |16 | 14 | s =t qT aTgAt e Igu (FE +F o1 W IeTEI)

14. 115 | 13 | 7) 392 &+t

15. |14 | 16 | STaT  OTH FEHT TAT A0 F TH A AR STAE
16. |13 | 15 | &wy gt | stfrmy Fohet srefeaen § 3eqre 2q RS asdt sifaw =gl ud
GEIEIEEIFER RS

17. 11 11 | 7 snfes = 5= 79 & v [faa g o amon omar 2 =20 Fead &) 39 - | 11
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(37T JTE TR SRR et Ry T A1)

SR
ST aqu, o feare aqu g ST aeqelr i Jarst & Scarad | a0 a1 | 1%
iSRS EIED
ITHTHT Q0 I TEQU, ¢ (ST THNT STHIHTAT FIT SATAT SaLFATe l AqE 6 | 1 L%
e o s 7 |
18-\ 17118 | ster sporm o e strve & <t Feer 3 s o wfvrdn 3 ey o & o |
TREds % AT I ATIAT & |

fRerer IO AT AT STHANT TG o A= TqeT TFaed grav g i afS Heia
ST T T G HAT 2 1 97 [0 &7 Jo fF S=7 AT |

1
K= 1-MPC
19. |20 | 21 | F5= SF FTT STF=AET | T 1 ATqf a0 97 F 7=r & oy S A soere 1
STt & I |l A Hgl AT g Wi A 6 THF TR0 2 © 9 a7, T &7,
e YT 2%, T AT AT, |t qAT e AT e | 3
(TS AT ITHT)

20. |21 |19 | qof TremTe A fufa g Somd aorgdt i y=fora 32 o2 S afies w1 #73 #it g=a1 1
T AT TEAT & IH HA T AT 397 & |

T3 IO TSI & &2 9T qa9T% Fof I & Fof 707 oFfew g (AD>AS) ar 7
feufy sifafs wiw /Afifas swaae Fgardr g |20 fufa & sueey avqe vam

HATE T T 6 AT TqL  FH Tg SITAT & AT 07 TSI =0t et & srfafisn 3
FEGAT TH HATSA FT ICATEA T Al gIaT ored A= HrAq & | g gt &
(3T ATF L)
CREN
A T HqAT &L 5 (G0 FA % &J [ahed 5. 2
i T w7 -8y g sagreerm (AD-AS saemm)
il F=a -aer sEgror(S-| saemom))
FEAT F S ST Fae
AD=AS (AD-AS zreagmeom) 2
C+l=C+S
I=S (S-1 srergmeom)
(3T AT AG)

21. |19 | 20 | sreatfora SURT & ATHTT rEedT ¥ g 9 & AR s w Fae 1
SIART | § | FET9d START  qTeqd 39 ITANT &L & g AT T o7 % 7%

Get More Learning Materials Here : & m @& www.studentbro.in



22. |23 | 23 | ALY I9ie - AR A AT A< 9w dr el srtaer s [t =T 2
FT fFawr 3| =9 e 92T §
) TISTEd TTTHAT - AT Al 9g TTTaFT SEe T 7 qEahTe it TRae = § HHt
AT g 37 7 Y T F e ® gfE gt g |
) GSTRTT ATTEAT — TR 6T ag Tl e a7 a1 G Sl sReasar §
FHT AT & AT AT AR F FTicaar H A e 2|
) TSTEd T — ALHTE T VAT AT FSH T T 7 qEh1e hl TRES AT § gl gt
2 SI¥ T & T o aTAadr H FHT AT g |
T) IS AT — FHE HT AT AT e a1 a7 9 it IR § ghg
It & ST AT T ALhTE % S Aeaar | FHT A7t § |

T

1x4=4

TLFHTT % a9 FT I
o) FHTLAT T SATae - TqaedT § VY srehr i forarmr g o fAshy & & o
ATHETAF Tl It T4 S AT, 9T% TS e | STAar & f&a &1 W § w@d 3
TU TTHTT 3 TohATell T HaTaT T8 Fdl § qTieh STrersha ™ THTST FHedTo gl T,
Ty &1 " AT wawr it #7 Rarmd aor snfs agradar yam w0 s e=r
% ITqTaeh! T AT & 3d | F1F F F o0 Trearied wedl ¢ |
F) atyen RRawar — et Rawar &1 o7 g 99 Fwal § 92 T 9 3d° q819
TeT AT FA11h AT § AT AT T AFTTTEAT § A T2raar =t Tt a=ar g |
HYHTY UH IAT AT g T¥ AT AgTAar a7 7 RATTd grer Resror #i7dt § | 3
IaTgur % forw effY sreavrer Y fRufa & 9w 37 7 9@7 T T97 S99 =74y
FH Fh THA TV FT HH FLA H GIIAAT FAT g STk TAehiTd Teqerer i et
H sfeer AT auT w2 R T F T 99T 9T A g § agrdr #dt § |
(Y st 12 IRF i B/ o <)
23. |22 | 24 | oo fafawr s o Rt seag a2 ST & ST o gy g & ot 2 2
T ore 3T 9% = qaT & faeelt gar # fAfawy fhemar g
e R & =g a7 & S Moo fReft Bftw aom § B At | 2
T ST AT T TRt gTeT fhaT STraT )
wyhetaw e 3 ;. 7 R = & = s3aer g Ses d@ T 0T 95 2
e atwar g Faiia fGeeft BT = @1 aEas Rt F aqar

TEAAT T TATIAT FaT 2 |
24. |24 |22 a1) =T atga = (i)+ [(iv) + (vii) + (viii)] 1%
=800+ 460 + 940 + 300 1
= ¥ 2500 F=1E Y2
) AT = (i) + TEE AT + (X) 1%
= 2,000 + 2500 + 200 1
=34,700 1 =T A
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